[HAE AN—-IVR)—F—=TL REXR ki T
BIREE : 2022412A178 () STRHIR S— + 3 (FYU FLKF—) AlBCid: 1345875
AH: 388 (B1E:304 %iE:84) HDCPHIRR : 58 36.0 % 40.0 53v=7 36.0 Z¥=7 40.0
HEAR  HAUT FBULEIRITE * 1.5 - 72) * 0.80 ERIER : v FEH
IE 2 TLAv—% Fit 4£AH H ] GROSS HDCP NET f&%& ZH
& B B0 - 2 44 40 84 13.2 70. 8
#EE AR EF e 39 41 80 1.2 12.8
3 I X £ 44 47 91 18.0 73.0
AT BRE A 2 46 48 94 20. 4 73.6
56 RS IE— 5 41 44 85 10.8 74.2 RUE
661 FHRE 2 38 38 76 1.2 74.8 A" AN AR
T RIR A LS 92 49 101 25.2 15.8
8 HI EX £ 45 49 94 18.0 76.0
O MmOk =% E 45 43 88 12.0 76.0
10/ BE EF 1% 45 48 93 16.8 76. 2 RUE
14 FiR s 2 44 48 92 15.6 76. 4
1261 K& FEX LS o1 55 106 28.8 11.2
13 K& Rif £ 46 46 92 14.4 71.6
1461 B E= £ 48 56 104 26. 4 71.6
156 % BEX 1% 54 55 109 31.2 77.8 RUHE
166 B BALE £ 42 48 90 12.0 78.0
1761 &H# ZF &S 94 48 102 24.0 18.0
1861 AE ®H 1 45 44 89 10.8 78.2
196 2 EH % 50 44 94 15.6 78. 4
201 AR =:— L& 45 43 88 9.6 18.4 RUE
210 EfE Bk 2 46 54 100 21.6 78. 4
2ty KEF =E LS 48 51 99 20.4 18.6
2361 A AHE £ 56 54 110 31.2 78.8
2401 FHik HF 2 45 52 97 18.0 79.0
2501 EER EZ=A LS 94 53 107 27.6 19.4 RUE
2667 ®mE FL 2 52 41 93 13.2 79.8
2161 BiR =R &S 92 50 102 21.6 80.4
2861 A = £ 55 53 108 27.6 80. 4
2061 R HA E 48 51 99 18.0 81.0
30 [EE B % 49 48 97 15.6 81.4 RUE
31 /NEF IEAN 2 52 50 102 20. 4 81.6
261 W Bya LS o1 55 106 24.0 82.0
33 =AML HME £ 54 55 109 26. 4 82.6
M =fE E— E 55 51 106 22.8 83.2
354 AR £ ¥k 58 53 M 21.6 83.4 RUE
36 YA EF £ 51 50 101 16.8 84.2
3L AH EHIF LS 59 54 113 28.8 84.2 BB
38f HEF EF £ 70 64 134 37.2 96. 8



